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Definition ofthe regulatormap.
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Next:Dennis/ch trace map.

cas--> 11-a)"oaGC(A)

<00,971- (89)0909, -
- (1-9,5)**9,890

11-calaeaa, (1-a9.)"000-11-89)"**,
- (1-9,00)"a,0a0-9(1-90109, +(1-a()"8a,90



Thetwo edges of the tennis trace map can be easily found:

200,9,9271-11009,9+09*9,89a+(l-9,98)"89,092890
+(1 - 989)40978809)

<8,..., an>1 -(-1)"(1-g........(2)89.0...09-1
slaijs(l-ai)"(as)"0900

Ib
a]
29+(a)) -59)

+96- aat(1-al0g +(1-50)*a
(P-w)(1-8))(a)+850)

pi- (1-a*).... (H-as")
*

*a0...89e

(the actual Dennis trace)
The general formula is harder toguess.
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22. Loday- friendly cluster coordinates
on a NC torus
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These are 115-invariantrelations

on A. Since (a,b7 =<b,c), we have

[a,b) =(b,y)
=x,y)

=
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